
Material list: GlobeFlyer (Frame)

Name to use materials where can I finde piece

Frame down Frame 1,5mm GFK Blatt 2 Frästeile 1,5 mm 1

Frame middle, front Frame 1,5mm GFK Blatt 2 Frästeile 1,5 mm 1

Frame middle, back Frame 1,5mm GFK Blatt 2 Frästeile 1,5 mm 1

Motor-distance-plade Motor holder 1,5mm GFK Blatt 2 Frästeile 1,5 mm 4

Lander-distance Lander 1,5mm GFK Blatt 2 Frästeile 1,5 mm 4

Lander plate Lander 1,5mm GFK Blatt 2 Frästeile 1,5 mm 2

Lander retaining plate Lander 1,5mm GFK Blatt 2 Frästeile 1,5 mm 2

Lander horizontally strut Lander 1,5mm GFK Blatt 2 Frästeile 1,5 mm 2

Motor holder Motor holder 3mm GFK Blatt 4 Motorhalter 4

Clamp Motor holder 3mm GFK Blatt 4 Motorhalter 16

Frame up Frame 3mm laminated wood Blatt 3 Frame oben GPS vorne 1

Frame up, side Frame 3mm laminated wood Blatt 3 Frame oben GPS vorne 2

Extension front LR Extension 15mm aluminium 
tubular

Blatt 1 Alu Ausleger 2

Extension back LR Extension 15mm aluminium 
tubular

Blatt 1 Alu Ausleger 2

Lander aluminium tubular Lander 6mm aluminium 
tubular

length 220 mm 2

grommet Lander 10mm/6mm Outdoor hole 10 mm, indoor 
hole 6mm

8

grommet Extension 10mm/6mm Outdoor hole 10 mm, indoor 
hole 6mm

8

Mushroom adhere 3M Lander, gimbal 3M SJ 3550 19mm Ask Benny how to find it 0,3m

Spacer tubular 15mm Frame down M3 /15 plastic 10

Spacer tubular 10mm Frame mittle M3 /10 plastic 4

Spacer tubular  6 mm Frame mittle, up M3 /10 plastic 8

Spacer  M3/13 Frame mittle, up plastic Or smaler witch spacer 4

Screw  M3/8 DIN7380 Frame mittle Halbrundkopfschr. Fixed extension 6

Selflocking nut M3 Frame mittle DIN 985 M3 Fixed extension 6



Perspex disc 1mm Frame up Perspex disc 0,5-1mm window 182mm / 40mm 1

Velcro  Battery Frame up Kable velcro 1

Blatt: 1

Material list: GlobeFlyer (Frame)

Name To use materials where can I finde piece

Screw M3/25 DIN7991 For distance M3/25 DIN7991 4

Selvlocking nut  M3 For distance DIN 985 M3 4

Screw M3/25 DIN7991 For distance M3/25 DIN7991 4

Screw M3/35 DIN7991 Frame M3/35 DIN7991 4

Selvlocking nut M3 Frame DIN 985 M3 4

Screw M3/12 DIN7991 GPS M3/12 DIN7991 4

Selclocking nut  M3 GPS DIN 985 M3 4

Screw M3/30 DIN7991 APM M3/30 DIN7991 4

Nut M3 DIN934 APM DIN934  M3 4

Screw M3/25 DIN7380 Motor Halbrundkopfschr. 8

Ring washer M3 Motor DIN 125 M3/6mm 8

Screw M3/5DIN7380 Frame up Halbrundkopfschr. 4

Coating black GFK Frame Coating black 1

Coating clear Frame wood Coating clear 1

Webbing Kabel webbing webbing 0,5m

Zip tie Kabel Zip tie smal 8

Blatt: 2



Material list: GlobeFlyer (Elektronic)

Name To use materials where can I finde piece

APM mini V.1.0 Bord RCTIMER 1

GPS Neo 6m GPS RCTIMER 1

ESC SK-30A Motor ESC RCTIMER 4

Motor 2212/920KV Motor http://flyduino.net/Multikopter-
Brushless-Motor-Multicopter-T-
Motor

4

Powermodul RCTIMER 1

Prop CW / CCW 10“ cam-carbon light Aeronaut globe-flight 2 / 2

FPV-Set Predator V2 FPV Fat Shark globe-flight 1

APM Telemetriemodul RCTIMER 1

RC (Teranis) 1

Akku / Charger 1

Gimbal 1

Gopro 2-4 Video 1

Blatt: 3


